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1
Let f : R2 → R be the function f(x, y) = ln (x+ y − 2). Consider the order of Pareto defined on the set

A =
{

(x, y) ∈ R2 : y ≤ 6− (x− 2)2; y ≥ 2− x; x ≤ 2
}
.

(a) (5 points) Draw the set A, justifying your answer.

(b) (5 points) Calculate, if they exist, the maximal and minimal elements, the maximum and the minimum of A. Justify
your answers.

(c) (5 points) Justify whether the function f and the set A satisfy the hypotheses of the Theorem of Weierstrass.

(d) (5 points) Draw the curves of level c = ln 1
2 , c = 1 and c = ln 6 of the function f , showing the increasing direction

and decreasing directions of the function. Calculate, if they exist the global maximum and global minimum of f on
A. In case that some of them do not exist, say the reason.

Solution:

(a)

El conjunto A está formado por los puntos situados en
la intersección de las siguientes regiones:

• y ≤ 6 − (x − 2)2. Región situada bajo la parábola
invertida con vértice en el punto (2, 6), y que corta
el eje de ordenadas en el punto (0, 2).

• y ≥ 2 − x. Región situada por encima de la recta
y = −x+ 2, recta con pendiente negativa, −1, y que
corta a los ejes de coordenadas en los punto (2, 0) y
(0, 2).

• x ≤ 2. Región situada a la izquierda de la recta
vertical x = 2.

En el gráfico adjunto puede verse el dibujo del conjunto
definido en el enunciado del problema.

(b) Los elementos maximales y máximo de un subconjunto del conjunto ordenado (R2,�P ), habrá que buscarlos en los
puntos (x, y) del conjunto con los mayores valores de x e y.

En el caso del conjunto A, el punto (2, 6) ∈ A se puede relacionar con todos los restantes elementos de A, y además,
cualquier otro elemento (x0, y0) ∈ A siendo (x0, y0) 6= (2, 6) cumple que (x0, y0) �P (2, 6). Por ello, el punto (2, 6) es
el máximo de A, y por ello, además, (2, 6) es el único maximal de A, o sea, Max(A) = Maximales(A) = {(2, 6)}.
Los elementos minimales y mı́nimo de un subconjunto del conjunto ordenado (R2,�P ), habrá que buscarlos en los
puntos (x, y) del conjunto con los menores valores de x e y.

En el caso del conjunto A, los puntos candidatos a ser mı́nimo o minimales de A, son los que se encuentran en el
segmento lineal incluido en la recta y = −x+ 2, para 0 ≤ x ≤ 2. Sea (x1, y1) un punto cualquiera de dicho segmento;
se puede ver gráficamente que @(x, y) ∈ A, (x, y) 6= (x1, y1) : (x, y) �P (x1, y1). Aśı pues, todos esos puntos son
minimales de A. Pero, además, para cada uno de esos puntos, se verifica que no es menor que todos los restantes
puntos de A, porque siempre hay puntos de A con los que no se pueden relacionar. Por todo ello, A no tiene mı́nimo
(Min(A) = ∅), y Minimales(A) = {(x, y) : y = −x+ 2, 0 ≤ x ≤ 2}.
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(c) Enunciado del Teorema de Wierstrass:

Sean una función f : Rn → R y un conjunto A ⊆ Rn; si se cumple que (Hipótesis del Teorema):

(a) f es continua en A,

(b) A es un conjunto compacto, lo que significa que es cerrado y acotado

entonces (Tesis del Teorema) se puede asegurar que f presenta un máximo global y un mı́nimo global dentro del
conjunto A. En este caso:

• El conjunto A śı es cerrado (incluye su frontera) y es acotado (se puede incluir dentro de una bola de radio
finito), por lo que A śı es compacto.

• f es continua en su domino, es decir, en puntos (x, y) ∈ R2, tales x+ y− 2 > 0. Sin embargo, la recta x+ y = 2
interseca al conjunto A en los puntos del segmento x + y = 2, 0 ≤ x ≤ 2, donde f no está definida, por lo que
f no es continua en todo el conjunto A.

Por ello, la función f y el conjunto A no verifican las hipótesis del Teorema de Weirstrass, y como consecuencia, no
se puede asegurar que la función f alcance extremos globales dentro del conjunto A.

(d) Las curvas de nivel de f siguen la expresión:

ln (x+ y − 2) = c⇒ x+ y − 2 = ec ⇒ y = −x+ 2 + ec

Las curvas de nivel son rectas de pendiente −1, y en las que la ordenada en el origen va creciendo al crecer el valor de
c. Por ello, el valor de la función va creciendo conforme las curvas de nivel se van alejando del origen de coordenadas.
Por otra parte, conforme c se va haciendo más negativo, ec va tendiendo a cero, y por ello, las rectas de nivel se van
juntando al acercarse a la recta y = −x+ 2, sin que ésta llegue a ser una de las curvas de nivel, puesto que ec 6= 0..

En el gráfico anterior se han dibujado algunas curvas de nivel de la función, sobre las que se ha representado el
conjunto A.

Para identificar la dirección y sentido de máximo crecimiento de la función de forma anaĺıtica, se utiliza el gradiente:

∇f(x, y) =

(
∂f(x, y)

∂x
,
∂f(x, y)

∂y

)
=

(
1

x+ y − 2
,

1

x+ y − 2

)
Vector gradiente en el punto (1, 2):

∇f(1, 2) =

(
1

1 + 2− 2
,

1

1 + 2− 2

)
= (1, 1)

Aśı pues, el vector gradiente en ese punto, tiene origen en (1, 2) y extremo en (1 + 1, 2 + 1) = (2, 3). En el gráfico
anterior se representa el vector, que muestra claramente el sentido del crecimiento de la función al pasar de una recta
de nivel a otra (f(x, y) va creciendo conforme el punto (x, y) se va alejando del origen de coordenadas). Por ello, el
máximo global de f en A se encontrará en el punto de A por el que pase la curva de nivel de f con el mayor valor
posible, o sea, la más alejada del origen de coordenadas. Por lo tanto, el punto (2, 6) es el maximizador global de f
en A. Y el valor máximo de f en A es f(2, 6) = ln (2 + 6− 2) = ln 6.

El mı́nimo global de f en A se encontrará en el punto de A por el que pase la curva de nivel de f con el menor valor
posible, o sea, la más cercana al origen de coordenadas. Lo que ocurre es que, dentro del conjunto A, y acercándonos
al segmento y = −x+ 2, 0 ≤ x ≤ 2 que forma una de las fronteras de A, para cualquier recta de nivel que elijamos,
siempre podemos encontrar otra con un valor de la función menor (valor de c más negativo), sin llegar nunca a la
recta que incluye el segmento anterior. Por ello, la función f no alcanza mı́nimo global dentro del conjunto A.
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2
A state-owned company managed by the Government of country G produces two goods A and B, of which it sells x and
y units per day, respectively. The cost function is given by

C(x, y) = xy + 2x2 + y2.

The unitary price of good A is pA(x, y) = 3− 2x− αy, where α > 0 is a positive parameter. The unitary price of good
B is constant and equal to 1, that is, pB(x, y) = 1.

(a) (5 points) Find the range of values of α for which the profit function of the firm is a concave function.

(b) (5 points) Let α = 1. Find the values of x and y which maximize the firm’s profits.

(c) (5 points) Let α = 1. The Government requires the firm managers to produce goods A and B in quantities such
that the unitary price of good A is 2, that is, pA(x, y) = 3− 2x− y = 2. Find the values of x and y which maximize
the firm’s profits under this constraint.

(d) (5 points) Let α = 1. Suppose now that the Government requires the firm managers to produce goods A and B in
quantities such that the unitary price of good A is 2 + 1

6 , that is, pA(x, y) = 3− 2x− y = 2 + 1
6 . Without solving the

new Lagrange problem, give an estimate of the increment (positive or negative) of the optimal profits of the firm
with respect to the case solved in part (c) above when the unitary price of A was fixed to 2. Base your answer in
the value of the multiplier found in part (c).

Solution:

(a) Return function:

R(x, y) = xpA(x, y) + ypB(x, y) = x(3− 2x− αy) + y = 3x− 2x2 − αxy + y.

Profits:

Π(x, y) = R(x, y)− C(x, y)

= 3x− 2x2 − αxy + y − xy − 2x2 − y2

Hessian matrix of the profit function:

∂Π

∂x
= 3− 4x− αy − y − 4x⇒


∂2Π

∂x2
= −8

∂2Π

∂y∂x
= −(1 + α)

∂Π

∂y
= −αx+ 1− x− 2y ⇒ ∂2Π

∂y2
= −2

Thus

HΠ(x, y) =


∂2Π

∂x2
∂2Π

∂x∂y

∂2Π

∂y∂x

∂2Π

∂y2

 =

 −8 −(1 + α)

−(1 + α) −2


Sign of the principal minors:

• D1 = −8 < 0;

• D2 ≥ 0 iff 16− (1 + α)2 ≥ 0 iff |1 + α| ≤ 4 iff −5 ≤ α ≤ 3.

In sum, Π is concave iff 0 < α ≤ 3 (since α > 0 by assumption).
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(b) By (a) above, the local extrema of Π satisfy with α = 1

3− 4x− y − y − 4x = 0

−x+ 1− x− 2y = 0.

The solution of this linear system is (x∗, y∗) = (1/3, 1/6). Since α = 1 is in the region of the parameter α where Π
is concave, (x∗, y∗) is the global maximum of Π.

(c) Let α = 1. Taking into account the constraint on the price of A, 3− 2x− y = 2, the problem becomes the Lagrange
problem

max Π(x, y) = 3x− 2x2 − xy + y − xy − 2x2 − y2 s.t. : 2x+ y = 1.

The regularity condition is fulfilled since the gradient of the constraint, (2, 1), never vanishes.

Lagrangian:
L(x, y, λ) = 3x+ y − 4x2 − 2xy − y2 + λ(1− 2x− y).

Lagrange’s equations:

∂L

∂x
= 0⇒ 3− 8x− 2y − 2λ = 0

∂L

∂y
= 0⇒ 1− 2x− 2y − λ = 0

∂L

∂λ
= 0⇒ 2x+ y = 1.

Solving for λ we find
λ = 3/2− 4x− y = 1− 2x− 2y ⇒ 2x− y = 1/2.

Solving the system (2x− y = 1/2 , 2x+ y = 1) we obtain 4x = 3/2, thus x∗∗ = 3/8 and then y∗∗ = 1− 2x∗∗ = 1/4.

Since the profit function is concave when α = 1 and the constraint is linear, the critical point (x∗∗, y∗∗) is the unique
global maximum of the problem.

(d) Let α = 1. The new price of A being 2 + 1
6 means that pA(x, y) = 3− 2x− y = 2 + 1

6 , thus the constraint becomes

2x+ y = 3− 2− 1

6
= 1− 1

6
.

If we compare with the constraint in part (c), 2x+y = 1, then we see that the independent term has been diminished
in 1

6 . Since the value of the multiplier in the problem solved in (c) is

λ = 1− 2x∗∗ − 2y∗∗ = 1− 6

8
− 1

2
= −2

8
= −1

4
,

we find that the increment of the profit function is positive, approximately equal to

λ

(
−1

6

)
=

(
−1

4

)(
−1

6

)
=

1

24
> 0.
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3
Consider the Lagrange problem

opt 2x2 + y2 − z2,
s.t. x2 − y2 = 1

x2 + y2 + z2 = 4.

(a) (5 points) Study the regularity condition.

(b) (10 points) Find all points that satisfy the Lagrange necessary conditions.

Hint: Note that points (0, y, z) with null first coordinate are not feasible, as they cannot satisfy the first constraint.

(c) (5 points) Justify that the problem admits global solutions and find them.

Hint: Apply the Theorem of Weierstrass and part (b) above.

Solution:

(a) The Jacobian matrix formed with the constraints is(
2x −2y 0
2x 2y 2z

)
.

The rank of the matrix is less than 2 iff [8xy = 0, 4xz = 0 and −4yz = 0] (these are the three 2 × 2 minors). The
solutions are (x, 0, 0), (0, y, 0), (0, 0, z), but none of them are feasible. Thus every point is regular.

(b) Lagrangian: L(x, y, λ, µ) = 2x2 + y2 − z2 + λ(1− x2 + y2) + µ(4− x2 − y2 − z2).

Lagrange necessary conditions:

4x− 2λx− 2µx = (4− 2λ− 2µ)x = 0 (1)

2y + 2λy − 2µy = (2 + 2λ− 2µ)y = 0 (2)

−2z − 2µz = −(2 + 2µ)z = 0 (3)

1− x2 + y2 = 0 (4)

4− x2 − y2 − z2 = 0 (5)

Using the Hint, we see from (1) that
λ+ µ = 2. (6)

From (3), z = 0 or µ = −1

• z = 0. Then (4) and (5) can be solved: From (4), x2 = 1 + y2 and plugging this into (5) with z = 0,

1 + y2 + y2 = 4

or 2y2 = 3, which implies y = ±
√

3/2, hence x = ±
√

1 + 3/2 = ±
√

5/2. We can find the multipliers from (1)
and (2) using that both x and y are nonnull: λ = 1

2 and µ = 3
2 . Thus we have found the four points

(x, y, z) = (±
√

5/2,±
√

3/2, 0)

are candidates.

• µ = −1. Then from (6), λ = 3 and from (2), y = 0. Now, from (4), x2 = 1 and from (5), z2 = 3. Hence we find
the four points

(x, y, z) = (±1, 0,±
√

3).
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(c) The feasibility set is compact and the function is continuous. By the Theorem of Weierstrass, the problem admits
global maximum and global minimum. This global extrema has to be among the points satisfying the Lagrange
conditions, thus we simply evaluate the function on that points. We denote f(x, y, z) = 2x2 + y2 − z2.

• f(±
√

5/2,±
√

3/2, 0) = 5 + 3
2 = 13

2 .

• f(±1, 0,±
√

3) = 2− 3 = −1.

Thus, (±
√

5/2,±
√

3/2, 0) are the global maxima of f under the constraints, and f(±1, 0,±
√

3) are the global
minima.


